a1 + blt as + bgt
azt + b2

Show that | a1t + by
C1 Co
Solution:

R.H.S

as + bgt
(Lgt + b3
c3

- (-#)

a1 + b1t ag +bot as + bst
= a1t+b1 a2t+b2 a3t+b3

&1

C2

C3

By R, — Ry —tR;,
(ay + bit) —t (ayt + by)

(ag + bat) — t (agt + bo)

= at + by ast + bs
C1 C2
—ay (2 =1) —ax(*—=1) —az(t*—1)
= a1t + by ast + bs ast + b3
C1 C2 C3
By R, — (2 —1) ((zj%ij}%1>
—aq (t2—1) —ag(tz—l) —a3(t2—1)
9 (t2-1) (t2-1) (t2-1)
= (t - 1) alt -+ b1 agt -+ b2 CL3t -+ b3
C1 C2 C3
—ay —az —as
= (t2 — 1) ait+b1 ast+by ast+0bs
C1 C2 C3
By Ry — (1) By
ai a2 as
= (1 — t2) (th + b1 a2t + bg agt + bg
C1 C2 C3
By R, — Ry — tR;
a1 a2
= (1 — t2) (alt —+ bl) — Cth (a2t + bg) - CLQt
C1 C2
a; az ag
=(1—?)]| by by b3 | =RHS
1 C2 C3

al a2 a3
bl b2 b3
cl 2 3

ast + b3
C3
as
(agt -+ bg) — agt
C3

(ag + bst) — t (agt + b3)



